N = 0l & AF & F Al A

SN BRECD
o HY2AAH(Z4SI)(JIEHIIE)
el o2yl (el &2
_ _ _ Muo
SA - H L SR(SH) - HRAMY - BS 0 & 24 e HRE2
SR 29,848, 180 19,355,562 10,492,598
2 8,445,900
z 1,351,200
| 1,663,800
= 80,537
= 576,884
2 17,729,859
HHSH AU (BZ LS (JIEHIIE 74,345 70,565 3,780
ol 2| 4,200 4,200 0
ol 2| 4,200 4,200 0
203 HRFAY| 4,200 4,200 0
04 EN2YYRETY] 4,200 4,200 0
ORAHSYLLEX(ZA302! 0/3H)
350, 00024 * 122 4,200
plCE-T 70, 145 66,365 3,780
2 70, 145 66,365 3,780
201 L2y 28,308 24,528 3,780
01 ALR eIt 26,508 22,728 3,780
CLIEE==1H 18,780, 0002 18,780
SEE 7,00021 +238 ¥541 %08+ 128 7,728
2 T2 1,800 1,800 0
02222 2 AA 50,0002 * 122 1,800
202 01t 41,837 41,837 0
01 =2Uioib| 41,837 41,837 0
ORN2Y JIZLRFZ offl  33,120,0009 33,120
ORoI0iHI (W3t &M S)
75,8002 %23% +52 8,717
MBI ST B (BEDS/MEAE - £F) 17,765,264 1,256,885 6,508,379
2 6,570,000
z 1,351,200
| 1,663,800
= 524,000
B 2 7,656,264
ML AT PRE 381,629 302, 160 79,469
z 160,200
2 221,429
AU DISA4E HEa 151,080 302, 160 ~151,080
401 Al&HIL 20| 151,080 302, 160 A 151,080
01 Al 150,000 300,000 150,000
At QUXT H0IMEE IR A A
30,000, 0002 %574 2 150,000
03 Al&=THYl 1,080 2,160 A1,080




SN BEEED
HE: NOILCUR (BYBS/MGHAE - 4R)
S R LT (e @
. - o MG =
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
OAl2H AT 2H0I44E HESAY Al
= Ol 150,000, 0002 x0.72/100 1,080
AR 2TAE AL 230,549 0 230,549
=l 160,200
2 70,349
401 Al&HIL 20| 230,549 0 230,549
=l 160,200
2 70,349
01 Al&H] 228,900 0 228,900
OARDHT AL JH2EATLS 228,900,0002 228,900
=l 160,200
2 68,700
03 Al& S OHH| 1,649 0 1,649
OARDATAIA AR AlL RO
228,900,0002!+0.72/ 100 1,649
(N 160,400 155,324 5,076
= 24,000
2 136,400
([P 80,400 45,000 35,400
201 LByl 80,400 45,000 35,400
01 AtR2elt] 80,400 45,000 35,400
OARBLTAL SHAN £42
300, 0002 *2687H 4 80,400
SOIE0IS 44 Fie2el 80,000 80,000 0
= 24,000
2 56,000
307 212+0IH 80,000 80,000 0
= 24,000
2 56,000
05 DIZHSIES 80,000 80,000 0
OS0Z IS4+ SISt
1,000,000 *807H A 80,000
= 24,000
2 56,000
Bt E R B ALY 2,160 153,600 A151,440
ot EHIAYS 2,160 153,600 A151,440
202 04t 2,160 2,160 0
01 =2Uioibl 2,160 2,160 0
OBt =S HUIAY 7 20,0002 %32 x32 « 128 2,160
oS BN (M+EAMSSEI) 5,546,633 1,829,774 3,716,864
=2 40,000
=l 1,191,000
2 4,315,633
N a4 c 2l 873,857 357,214 516,643
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M SASE
S AGATRE(SBEE/NELE - HF)
Gl 2o DI (MACMLSHE ) (e mel)
SN HB SR (BIH) - A - B S 0l &b S D=2
—SENAE dIoEBR HLSE
120,000& <128 1,440
—odaE REH MRS
50,0003 *10H 2+ 12 6,000
—olEasE S Ha)
35,0003 *10H 2+ 122 4,200
—PTHLH KTSAIRD 40,0002 *122 480
— =& ae| A F&H| 70,0003 *12& 840
~ASEHER3 =27 ws 2we3
1, 7203 x3021 128 620
Oolg ¥ 2B HEAT U oiRY|
2,500,000 *304 2 7,500
028 ¢ RgadsE Ald=Xd]
2,500,000 *301 A+ 123 90,000
202 O4dl 5,280 5,280 0
01 =Yl 5,280 5,280 0
O9gd & e 2 HA FHHYI
20,0003 »2H x5« 123 2,400
ON4E AgE B2l SENOH
20,0003 »2H 6L 123 2,880
206 M=H| 38,760 38,760 0
01 M= bl 38,760 38,760 0
098 U SEMLE HaotE 7Y 38,760
—PAC 2803 *2,500kg*2I A 12 16,800
—Jtd At 300& *1,000kg*2H 2=+ 122 7,200
—XOtE A AMLIES
3603 *1,000kg*3 A+ 128 12,960
—AHBAR ZHAY Y AQE
30,000 x5&+12& 1,800
207 AN Y| 500,000 0 500,000
01 32 E 2] 500,000 0 500,000
OA£+=ME8 MK HIAUXHHE(EAP) =8 24 500,000
—2IM=X HIAUHAE(EAP) =8 9
300,000,000& 300,000
— A=K HIAUHAE(EAP) =8 EY
200,000,000& 200,000
R 2N ALY 347,160 362,160 A 15,000
401 AlEHIZ 2 347,160 362,160 A 15,000
01 Al&HI 345,000 360,000 A 15,000
o=z wiHAd 100,000,000 *3km 300,000
OL==AHEI wH 300,000& »150H 45,000
03 AIZ SR04 2,160 2,160 0
OL=2=2 WHAMY A4204
300,000,000% *0.72/100 2,160




SN BALE
HE: NOILCUE(HYBS/MGIAE - 4R)
Sl 922 BIHM(MLTAYSHIIH) (S5 &2)
_ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
LS e A2 24 70,000 70,000 0
401 AIEHILLCH] 70,000 70,000 0
01 Al 70,000 70,000 0
OM£E B4 AZ B4
1,400, 0002 %5074 2 70,000
AL ZEBA 30,000 50,000 20,000
401 AlAHIL 2 O] 30,000 50,000 20,000
01 Al 30,000 50,000 220,000
ON%E S4TAH 1,000, 00021 %3074 2 30,000
APMAT FHTY YDA 100,900 0 100,900
401 AIEHIL 2 CH] 100,900 0 100,900
01 Al 100,000 0 100,000
OoAYHLE Z4+72Y HYTA
100,000,000 Tk 100,000
03 Al& = CH| 900 0 900
OolYM+E Z472Y SHYTA AL
00,000, 00024 %0.90/ 100 900
SYNLT Z27Y HYTA 100,900 503,600 A402,700
401 AIEHIL2CH] 100,900 503,600 A402,700
01 Al 100,000 500,000 400,000
ORYL4LE 2472 HITA
100,000,000 Tk 100,000
03 Al&=CH| 900 3,600 A2,700
ORBMLET Z472% YA AL
100,000, 0002 *0.90/ 100 900
5 s0iE MBS HEMY 492,521 0 492,521
= 391,000
2 101,521
401 Al4HI L 2 O] 492,521 0 492,521
= 391,000
2 101,521
01 Al 489,000 0 489,000
O3l ¥ SOH=MSES HLAL
489,000,0002! 14! 489,000
= 391,000
2 98,000
03 Al& = CH| 3,521 0 3,521
OB HE SOHEMBES WA ALY
489,000,00021x0.72/100 3,521
DEFEHEAIL 1,006,300 235,000 771,300
=l 500,000
2 506,300




SN B3RS
HIM: MGISTRR(BHLE/MGIET - +H)
G U222 2SS (METAISEEESAH) (3
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
401 Al&HI LS 1,008,300 235,000 771,300
2 500,000
= 506,300
01 Al&H] 1,000,000 235,000 765,000
O DEFSHEIAAE AXIALY
1,000,000, 0002 1,000,000
2 500,000
= 500,000
03 Al&=2CHHI 6,300 0 6,300
Ol DEFSHEIAAE AXIAIY AL
Hl 1,000,000, 000 *0.63/100 6,300
JIZMELZIR 2E2)|2 AZALS 80,000 0 80,000
= 40,000
= 40,000
401 Al&H| L LCHY| 80,000 0 80,000
= 40,000
= 40,000
01 Al&H] 80,000 0 80,000
OJZMELEZIT £E2)|2 AZAY
1,000,000 *80Jt 80,000
= 40,000
= 40,000
2Ol Dh o0 AL 2,445,000 0 2,445,000
2 300,000
= 2,145,000
401 Al&HI LY 2,445,000 0 2,445,000
2 300,000
= 2,145,000
01 Al&H] 2,445,000 0 2,445,000
OZHN D JHEAY Al Al & HIHI
2,445,000,000& 2,445,000
2 300,000
= 2,145,000
StEXelAIEE X (2N AL S L FIAH) 3,736,668 4,577,421 840,753
= 2,588,000
[= 421,500
7 = 727,168
oY BHEMMHI HMelAld AXIAY 2,820,116 1,675,009 1,145,107
= 1,967,000
[= 421,500
= 431,616
401 Al&H| L L2CHY| 2,820,116 1,675,009 1,145,107
= 1,967,000
[= 421,500
= 431,616
01 Al&H] 2,810,000 1,669,000 1,141,000




CY =

A
-

ZH =LA
S MGt

X 2O (HARE /MG HE - +F)
Sl SHEHRIAS SR (S RN LAY S| H) (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OBt E=MMI| MelAIE & XA
2,810,000,00024 2,810,000
= 1,967,000
= 421,500
2 421,500
03 Al& S CH| 0,116 6,009 4,107
OB MM MelAlE SXIAY AlL2H]
2,810,000,00021+0.36/100 10,116
YA HRIE SAHLIAL SXIAS 443, 168 0 443,168
= 220,000
2 223, 168
401 AIZHIL 2O 443, 168 0 443,168
= 220,000
2 223, 168
01 Al&t| 440,000 0 440,000
Oclgst+ 2% BQAXRIAE EXAL
440,000,000% 440,000
= 220,000
2 220,000
03 Al&=CH| 3,168 0 3,168
Oolzat+H2IE SAXINE LTINS AL
S0yl 440,000,000 %0.72/100 3,168
SYUGHEHRIE SUHRIAE SXIAY 110,792 0 110,792
= 77,000
= 33,792
401 Al4HI L 20| 110,792 0 110,792
= 77,000
= 33,792
01 Al&t| 110,000 0 110,000
ORYot+He Y SAHINE XY
110,000,0002 110,000
= 77,000
2 33,000
03 Al&=CH| 792 0 792
ORE+HIE SAHINE SXIAS AL
SOyl 110,000,002 %0.72/100 792
ZTTo+HeIAE Held OIS At 362,592 0 362,592
=2 324,000
2 38,502
401 Al&HIL 20| 362,592 0 362,502
= 324,000
= 38,502
01 Al&H] 360,000 0 360,000
OogBBI+M2AL Ml OIS
360,000,0002 360,000
= 324,000
2 36,000

|
~
|




SN
X XH .
S Tt

el

22
J2

20
B
2

=
AZI3otHelAME XMals HOISAY Al
=
e

360,000,000%%0.72/100

2,592

2,592

SOE0IS StaTHHIAI (22

HEALEESIA)

HHn YW

1,505,190
766,000
172,000

78,500
488,690

414,772

1,090,418

ZU0tS St A4 XA

HHN YW

643,026

447,000
115,000
38,500
42,526

77,693

565,333

401 AIEHIZL 20

HHn Y

643,026

447,000
115,000
38,500
42,526

77,693

565,333

01 Al£Hl

OZUOIE ot== A4

03 A&20HYI

OZUOIE ot== A4

XA

639,000,000&

HHNn YW

XA AlE208I

639,000,000& *0.63/100

639,000

639,000

447,000
115,000
38,500
38,500

4,026

4,026

77,000

693

562,000

3,333

X

459,284

319,000
57,000
40,000
43,284

44,688

414,596

401 AIEHIZ 208

H XA

459,284

319,000
57,000
40,000
43,284

44,688

414,596

01 Al&HI

O=d0t=S ot=Al&

03 A2 2048l

O=&80t2 o

-

=S AE

XA

456,000,000&

HH XA

XA Al 20|
456,000,000 *0.72/100

456,000

456,000

319,000
57,000
40,000
40,000

3,284

3,284

44,688

411,312

3,284
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SN BHEC
BE: MGACHR(BPLE/MOEE - )
CHol: SOIEDIS St HHIAY (SENHALSE3 ) L]
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRz2
22 SACAIE HXAY 201,440 99,710 101,730
401 Al&HI LS OHYI 201,440 99,710 101,730
01 Al&H| 200,000 99,710 100,290
O2E U125+ AL EXIAY
200,000,000& 200,000
03 AIZ20i4l 1,440 0 1,440
OZF DISHSAA SXAY ALY
200,000,000&*0.72/100 1,440
H&E0E ot AlE EXAS 201,440 62,752 138,688
401 Al YIS OHYI 201,440 62,752 138,688
01 Al&H| 200,000 62,752 137,248
OUREOIS SHETAIE XA
200,000, 0002 200,000
03 Al =204l 1,440 0 1,440
OUHEDIS SHESAIAE SRIAI Al ST
200,000, 0002 +0. 72/ 100 1,440
S22t HEHIAI (=ZM LA E L3 H) 1,909,851 570,573 1,339,278
= 1,332,000
Jl 343,000
= 234,851
o (Y, RF 512l IS R)o 42 U A 1,909,851 0 1,909,851
2 1,332,000
Il 343,000
2 234,851
401 Al&HIZL=ROHYI 1,909,851 0 1,909, 851
= 1,332,000
Il 343,000
i 234,851
01 Al&H| 1,903,000 0 1,903,000
07 (F, 28,512, 2 7)s =20 Z|
Abel 1,903,000,000% 1,903,000
2 1,332,000
Il 343,000
2 228,000
03 A2 204Hl 6,851 0 6,851
Oola (e, 28,512, A 2R)s a2 =
A A R0 1,903,000,000& *0.36/100 6,851
St EHUIAN (SEHLARSBEIH) 2,507,110 2,025,430 481,680
Jl 1,148,800
7 = 1,358,310
SlamAEs U Ea 342,610 342,610 0
401 Al&HI LS OHYI 342,610 342,610 0
01 Al&H| 340,000 340,000 0
Odt=E &L A 90,000,000& 90,000
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M SASE
B MG AT R (BBEE/NOAE - 4T)
©el: St AL (SEMLALEESIA) (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
Odt=2tH 218 E=AMY 250,000,000& 250,000
03 AIZ=20Hl 2,610 2,610 0
OB+ ZEAIY ALY
90,000,000 *0.90/100 810
Odt==2H 215 SAte AIE20
250,000,000% *0.72/100 1,800
SHII=AE 222 1,964,500 1,682,820 281,680
Il 1,148,800
i 815,700
201 Let2d| 414,300 412,820 1,480
Il 206,100
i 208,200
01 AtS22lHl 25,600 100,920 275,320
Oget=ZH| 25,600
~JIE2L U 2hH442 DUA 7Y
60,000 102 A 600
—AnE S3otHelAE JIsd
5,000, 000& =54 2 25,000
Il 12,500
i 12,500
02 3234l 388,700 311,900 76,800
O232= 2 HAl 308,700
—ot=% &3l 1,500,000& 1,500
—EFII=A4E &JIR= 20,000,000 «12& 240,000
| 120,000
= 120,000
—an2 S3ot=HelAE &S
350,000& 1600 2+ 12& 67,200
| 33,600
= 33,600
OAl&EHI= Xl 80,000
—SZII=AME JIAHEH RXEH]|
40,000, 000& 40,000
| 20,000
= 20,000
— 278 B3o=HMelANE A2
20,000,000& 20,000
Il 10,000
i 10,000
—SFIEANE AFE RANE =4
20,000,000& 20,000
| 10,000
= 10,000
207 AN 30,000 60,000 230,000
01 22E S| 30,000 60,000 A 30,000
ON}E2R 2 2ol 280 4EE
30,000,000& 30,000




SN BESED
HE: AGIATHR(BPBS/NOAE - 2 H)
Sl ST HHIA (AR HLALSHEIH) (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
307 21240 1,425,200 1,150,000 275,200
] 895,200
= 530,000
05 BIZtRE = 1,425,200 1,150,000 275,200
OZIIZAIE QIZIREZ 1,265,200,000& 1,265,200
Il 815,200
i 450,000
OARR ZERIISHAIL 2129 e
10,000,000 * 1690 £ 160,000
Il 80,000
= 80,000
401 Al&HI LS04I 70,000 50,000 20,000
] 35,000
i 35,000
01 Al&H| 70,000 50,000 20,000
OBFINZAL L 472 BBFI&H2IAIL 2
224 70,000,0002! 70,000
Il 35,000
= 35,000
405 AHoHESHI 25,000 10,000 15,000
Il 12,500
= 12,500
01 MHARESFSH 25,000 10,000 15,000
OAIZANL2YTY 7Y 25,000
—=ZZEH UMY 20,000,000& 20,000
Il 10,000
2 10,000
—BODQ! A HIOIE WM+ 5,000,000& 5,000
Il 2,500
i 2,500
o ot &Hl JI2AHE(HE) +EHEY 200,000 0 200,000
207 A IOHEHI 200,000 0 200,000
01 ¢22E Sl 200,000 0 200,000
YR SR JI=HE(HY) 28R
200,000,000& 200,000
oEEzme (LA WMANLSH ) 160,000 160,000 0
gz 160,000 160,000 0
207 AN 160,000 160,000 0
01 g2 ESH] 160,000 160,000 0
(@SR =i 160,000
—oER QYEBABNE OIBE DN By
o 2 +F 2 RYET 84|
200,000 * 1094 A »303] 60,000
—oYR QEBFABNE OBBIN Ty
50,000,000& *27H 2 100,000
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SN BHEC
B MR (HYEE/AGAE - 2 T)
CHel: SZEX QUSHeIAlE &% (Erol: &2
_ _ Muo
A HH . CR(S) - NRAY - BHLS Ofl & 04 Sl ko HRE2
ST LML &3 1,855,618 0 1,855,618
2 1,844,000
= 11,618
FEs3HA QEH=HMeAlE DEHelALS 1,006,300 0 1,006,300
= 1,000,000
i 6,300
401 Al HI LSO 1,006,300 0 1,006,300
= 1,000,000
i 6,300
01 Al&tt] 1,000,000 0 1,000,000
SUSZON QEHAHAE DEHAL
1,000, 000,000& 1,000,000
= 1,000,000
03 AIZ SR04 6,300 0 6,300
ORYSIEX LQHLHAAL DEH2IAY
INE=EE =] 1,000,000,000% +0.63/100 6,300
SESBUX QAN GH4BH &I 849,318 0 849,318
2 844,000
= 5,318
401 Al&HI YL S OHYI 849,318 0 849,318
= 844,000
i 5,318
01 Al&H| 844,000 0 844,000
SESTOX LQHAHANL 542H &3
= 844,000,002 844,000
2 844,000
03 AIZ=20bl 5,318 0 5,318
OSSSZEX QHAHAL 5142 &%
SAH AIE R0 844,000,000& x0.63/100 5,318
HOISX23 & Hel(2#H2ES/HIIE) 1,253,364 1,486,720 A 233,356
= 11,000
= 1,242,364
HIIS X 1,253,364 1,486,720 N233,356
= 11,000
= 1,242,364
HOIZEMeANE=2E 1,074,463 719,592 354,871
101 el 26,536 0 26,536
04 JIZHMIZ2XSE =+ 26,536 0 26,536
(@)eiFal:] 26,536
— MDA RIE LA oeY
33,0002 x4H 183 24,156
—=28g= 24,156,000& =0.0985 2,380
201 YBr2 Y] 550,321 459,396 9,925
01 AtSR22/Hl 151,867 86,744 65,123
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SN
X XH .
S Tt

el

SR R
HIOISEXs & Mel(#E2ES/HIIS)

HII= X

Off & 2K

138,469

20
B
2

SN

SRA(SAH) - MEAY - HES

55,068

2R AASE ME2Y

S
B

S M (50L)

(0.58) =& 4

i ADNES

—MeIIEgEI 31

eEs g8 2

—S=8SJIHIIZ Mel+==2

—UEHolEe A=A+

& o2

— X

— X
—a2AIE T
— MY O E LM
—MgoIE &
— X

— X

A A
TTE

L B3]
— A2

PAIE

|
B>
N

EAUNE=!

k>

— M oIE

—MIIE 2

3532 +10H%13,000AI CH =12
104& 20, 0000H

&2l PPOICH (40kg) 7 &
100& %20, 000 0K

Zel=H PPOIH(1E) 7
6,000 *1,0000H

2= MH
3002 x2E5+1,0000H

A
TE

A
8 RYE [y
2

BI&HAH 1€ X 2ld]

ceTve
—3J1¥380 &

oMt

,000& +2000H

100,000 «13H

eIt E XM=
50,000& *500H

1,000,000 *13]

10,000 = 100CH
200,000& 102

400,000& 12

210,000& »20=

A2f HALESED

200,000& * 12

A ==2 110,000& *12&
X ===
45,0003 «2CHx12&

apz

c oS

2,080
2,000

6,000

22,0008 123

800
600
1,300
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